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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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1. Answer the following as directed :
1x10=10
©e TS AR Woit sopie T fimt

(a) For a normal population the sample
mean is a consistent estimator.

(Write True or False)

ARy TR < e Afowl Wiy ]
YR 1 T |
(w1 @ [ )

Contd.



(b)

(c)

(@)

(e)

The Econometric theory is the
quantitative relationship among
economic phenomena.

( Write True or False)

GRfeT v = IS WAIRT NRYF

9T |
(1 @ g &)

What does RAM stand for ?

RAM 3 & 3=t ¢

The 3-o control limits were propoSed
by

3-o fFmgd St —— — @ SRl

In FORTRAN, state whether NUMBERS’
is an integer variable.

FORTRAN © ‘NUMBERS’ *¥(5! S[¢ 56799
AN ] ANEE 2
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(9)

(h)
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When is the c-chart used in SQC ?
SQC © ctha Ffoat Jegv =W ¢

Determine the result stored in the
following variable memory space :

K=%+13**2

weTs frm AR T R IR Boier gfes
S ATH 7 ?

K=%+13**2

Write FORTRAN expression for the
following mathematical expression :

TS fat AMGIT T FORTRAN I &yt ¢

A= B%+C?-2BCcos(X)

The OLS estimators are best, linear
and unbiased estimators.
(Write True or False)

OLS SiReE (Y, (JRF =9 swione
T |
(Bt @ B it

Contd.




() In SQC central line indicates the
desired of the process.

SQC © F@id ([T «fFAsR AR/ =il
— JEmI

Answer the following questions in brief :
7 ‘ 2x5=10
e SMITAIRT B Ted ¢

(@) What will be the values of M and N in
the following Fortran 77 expressions ?

wete 3l Fortran 773 (d@ M S% N 3
T Refa ==t ¢

M=4**2/5
N=2*7/5

(b) What are the goals of Econometrics ?
SRS & PR [ 7 e

(c) Write down the control limits of c-chart.
c-Aefoua fRage Pz B

3 (Sem-6) STS/G 4

(d) What is linear regression model ?
aRT TERW i Ww & 2

(e} What is 3-0 limit ?
3-0 I e | 2
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Answer any four of the following questions :
. 5x4=20
wote fal e Ricarer BifRo et ot

(@) If x, Xo, ceerennnen x, is a random sample

from a normal population having mean
u and variance unity, then show that

s _ 1K 2 ] )

3=—in is an unbiased estimator
i=1

of 4241

I X, Xy eeeernens x,, Bt A ANV 2

il Afom = TR WY g R AR T G

) 1 n
W (O A @ o= — Y xf p? 417
i=1
TS SNAF |
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(b)

(c)

(@)

(e)

What are the basic assumptions of
linear regression model ?

<ol 3RF TR @il [ wfaw @20
& &2

What is p-chart ? How is this chart
constructed ?

p-Aa I B o WS @ Ao A
e

What are chance causes and assignable
causes ?

@IS Wi BT IRFTE R R 2

1 & -
Prove that SZ—TI (x,-—x)2 is an
i=1

unbiased estimator of

32_l_

1. (x,-X)

Mz

(]
-

i

where x, X3,....X, be the sample
values drawn from a large population

Xl’ X2, "“XN .
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W@Wa’@ X1y Xy ouen X, T ARSI
T, W X, Xy, e Xy amq@mmmﬁa
3 @R TRl

Write a short note on software and
hardware of computer.

FITHIRR SFHLIR S TR @oTS Bt 5
ot foran
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Answer any four of the following questions :

weR firaizat bifeb! e e i ¢

(a) Define sufficiency. What are the

10x4=40

properties of sufficient estimator ? Show
that sample mean ¥ is as sufficient

estimator for a population mean # in

case of known variance o2.

sifigeig sigwt fam | AHi] SFaee TR
2 oryea @ AT g X, AR WG 43
<GBt o1l TS TS IR o2 F T T AT |
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(b) What is Econometrics ? Discuss

the scope and limitations of
Econometrics.

fEife e & = 2 TR A W
Ao [REw wcEsat 7411

Or

From a sample of 16 pairs of observations
on X and Y, the following results are
obtained :

>Y2=526, LX2=657, LX;Y;=492,
Z}’i=63, ZX1=96
(i Estimate the parameters of the

model Y;=a+8X;+u; and line of
regression of X on Y.

(@ Find Var (@) and Var (g).

X9 V-3 16 @R WRY AT oo7s fAm o-
TR (AR R 8

TY?=526, LX?=657, TX;Y;=492,
YY,=63, TX;=96
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|

(c)

@)
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() ST Y;=a+pX,;+u; I DA (VR
T STed T SR Y- 8RS X-F
A &R Rl

(i) Var (@) 9% Var (3)-3 R fefa 3=

What do you mean by control charts ?
Explain the basic principles of
construction of control charts. How

does it help in manufacturing process ?

e Ao ST B ot 2 3R T A5 et
3l 11| Tesive AfFale T @IS TRIE I

3 =

the main parts of

Discuss

computer ?

FfoieoRy Rfen wermm Ry =2
)

Contd.




(e)

Or / IR

What are the different numeric
variables used in FORTRAN language ?
Discuss the use of numeric variables

with the help of examples.

FORTRAN © & & My o5 9T <4
77 SriseiR Fizes IR 3 3

Define an estimate and an estimator.
State the requirements of a good

estimator. Discuss it briefly.

TP SI% SFERT FAE 7| o S
GO & B RPN AT SR T 31 |

Explain the rules of Do loop with

example.

Do loop-3 % g TwimgeR tite miyt
91
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(g) Discuss in detail the X and R charts.
What are the main parts of these
charts ? Explain their advantages over
p-chart.

X @i% R &8 e it 3311 @2 B srw
I O TR I A | p-aFH ety 33ew
R R R 2 -
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